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(Total : 560 Marks)
I. Vocabulary ( 100 Marks)

A) From a, b, c and d choose the most suitable word that best completes each of .

the following sentences: (5 X10 =50 Marks)

1. The police arrived as soon as the robbers had........................... the bank.
a. engaged in b. trespassed on c. gone along with d. broken into

2. Man is a social being and does not lead a/an ................... life unlike some other species.
a. solitary b. intrinsic c. legal d. treacherous

3. The sudden weather conditions ........................ the whole crop which led to famine.
a. compost b. decimated C. prosecute d. inject

4. Itstruethat ........................ reduces the volume of waste, but the deposit is highly toxic.
a. judiciary b. ethnicity C. proportion d. incineration

5. Certain areas of the Polar regions are frozen................. as they are farthest from the equator.
a. ultimately b. permanently c. nervously d. commercially

B) Fill in the spaces with the most suitable words from the list below:( 5 X 10=50 Marks)

(deploy — principle — carnivorous — precipitate — partnership — disgruntled)

6. Our organization worksonthe ............... all workers have the same rights.

7. The devoted fans were ............... after their football team had lost the match.

8. The Kuwaiti community is grateful for the police who ............ law to protect our live.

9. The economical expert believes the falling saleswill ............... the failure of the economy.

10. Crime prevention is effective whenitisa ................... between the police and the public.
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I1- Grammar ( 60 Marks)

A)From a, b, c and d choose the correct answer that best completes each of the

following sentences: (4 X 10=40 Marks) 60
11. She bought a book for herson .................. buying him his favourite game.

a. instead of b. whereas c. on the other hand  d. but
12. The game.................. better if the players had trained well.

a. must be b. can be c. will be d. would have been
13. My parents will arrive .................... Kuwait tomorrow morning.

a. at b.in c.on d. with
14. The Avenues required detailed planning before they ............... with the project.

a. begun b. had begun C. beginning d. had been beginning.
B) Do as shown between brackets:(4x5=20 Marks)
15. Many buildings are built. They want to rent them. (Join with: so that)

...........................................................................................................

16. Scientists prove various theories through constant tests and experiments.  (Make passive)

17. My brother (study) law at the university for five years. (Correct the verb)
18. I can’t give up eating junk food. (Complete)
LIS L
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I11-Lanquage Functions ( 40 Marks)
Write what you would say in the following situations: (4X 10 = 40 Marks)

19. A friend of yours is asking you about computer crimes.

...........................................................................................................

1VV- Set Book ( 40 Marks)

Answer ONLY THREE of the following questions: (4x10= 40 Marks)

23. Why do you agree to send criminals to jail as a punishment?

40

...........................................................................................................

...........................................................................................................

...........................................................................................................
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V- Writing (120 Marks)

120

Write on the following topic:

Some people enjoy hunting animals as a sport for different reasons, but others believe that many
animals have almost disappeared from the earth due to human acts.
Plan and write an essay of 14 sentences (160 words) discussing the two views and showing

which opinion you agree with and which you don't.

NB: (Your writing should include an introduction, two-body paragraphs and a conclusion)

Outline (20 Marks)

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

....................................................................................................................
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..................................................................................................................
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..................................................................................................................
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...............................................................................................................

...............................................................................................................

...............................................................................................................

...............................................................................................................

Outline Exposition of Paragraphing and | spelling Grammar Handwriting, spacing | Total
" ideas and number of and punctuation
§ coherence sentences
= 20 60 10 10 10 10 120
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VI- Reading comprehension (110 Marks)

Read the following passage carefully, then answer the questions below: 110

Everyone has a favourite attraction at an amusement park, and | am no different. However,
unlike most people who seem to prefer roller coasters, my favourite ride is a little gentler. Every
time 1 go to Coney Island or the Santa Monica Pier, | absolutely have to ride the Ferris wheel.

The Ferris wheel is quite complex. Riding it is easy, but how it works is complicated. A
series of carts are attached to a wheel, which is attached to a rim. That rim rotates vertically
around an axis, and gravity keeps the carts upright. As simple as the ride seems, only advanced
engineers can make safe and fun Ferris wheels.

While the Ferris wheel is not as thrilling as a roller coaster, it is still very exciting.
Nevertheless, I don’t seek Ferris wheels out because of their excitement. Rather, I find them very
relaxing. At the top of the Ferris wheel, you get beautiful sights of the park. You also get a sense
of calm that you don’t get in the hustle and bustle of the park below. Additionally, Ferris wheels
are also gorgeous to look at when they are lit up at night. In fact, the original Ferris wheel was
designed as much to be seen as to be ridden.

The first Ferris wheel was made by and named after George Washington Gale Ferris, Jr. He
designed it for the Chicago World’s Fair in 1893. It was the tallest attraction there, standing 264
feet high. However, visitors to the fair were impressed by the size of the ride as well as the
mechanics of it. In 1893, anything that was not turned by hand was considered a sight to see.
And the wheel, which was a machine, was truly incredible to see.

Ferris wheel technology has only improved since then. Most of today’s Ferris wheels are
much larger than that first one. Today, the Ferris wheel is the most common amusement park
ride. But that does not mean you should take them for granted. Instead, be thankful for Ferris’
invention. The next time you’re at an amusement park, don’t just look up at the impressive

wheel in the sky on your way to a newer attraction. Take it for a spin!



daglud) dadiall
2019 /2018 (L) oA 83 Apaad jal) 558N Al - e AN Ciual) Gladial (Aady) ) N8 Aial¥) AR 5 paad Al Jlaall

A-From a, b, c and d choose the correct answer: (5 x 10 =50 Marks)

28. What is the main idea of paragraph (3)?
a. Childhood memories of amusement park.
b. The history of Ferris wheel
c. Why the author likes riding Ferris wheel
d. How Ferris wheels improved

29. What does the underlined word ‘which* in paragraph (4) refer to?
a. ride
b. wheel
C. sight
d. hand

30. What is the OPPOSITE of the underlined word ‘complex" in paragraph (2)?
a. impressive
b. beautiful
C. exciting
d. simple

31. We can understand from the passage that the author wants to:
a. inform us of the author's favourite amusement park rides.
b. show the original design of Ferris wheels and how they work today.
c. describe the history of Ferris wheels and why they are so popular.
d. explain the history of Ferris wheels and why the author likes them.

32. According to the passage, the Ferris wheel was originally designed for:
a. Coney lIsland
b. The World’s Fair
c. Disney World
d. Singapore

B) Answer the following questions (4x15= 60 Marks):

33. How does the Ferris wheel work?

.................................................................................................................

.................................................................................................................
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VII- Summary Making (60 Marks)

] - 60
Read the following passage carefully, then answer the question below:

Google was the first search engine that began considering links. Links are those blue
underlined words that take you to other pages when you click on them. Google's search results
were much better than their rivals. It wasn't just the great search results that led to Google
becoming so well liked. It also had to do with the way that they presented their product. Google's
homepage was, and still, clean. There's nothing but the logo, the search box, and a few links.
These days Google has its hands in everything from self-driving cars to helping humans live
longer. Though they have many other popular products, they will always be best known for their
search engine. The Google search engine has changed our lives and our language. It is a standing
example that one good idea can change the world.

In FOUR sentences, summarise and paraphrase the previous passage in answer to the
following question: (4X15=60 Marks)

Why has Google search engine become so popular?

...............................................................................................................

...............................................................................................................

...............................................................................................................

Content / relevance of ideas Paraphrasing Spelling and grammar Format Total

30 20 5 5 60

Rubrics
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VI1II- Translation( 30 Marks )

30
Translate the following into good English:( 2X15= 30 Marks)
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(Total : 560 Marks)

I. Vocabulary ( 100 Marks)
English 4 all 100

A) From a, b, c and d choose the most suitable word that best completes each of
the following sentences:(5 X10 =50 Marks)

1. The police arrived as soon as the robbers had........................... the bank.
a. engaged in b. trespassed on c. gone along with d. broken into

2. Man is a social being and does not lead a/an ................... life unlike some other species.
a. solitary b. intrinsic c. legal d. treacherous

3. The sudden weather conditions ........................ the whole crop which led to famine.
a. compost b. decimated C. prosecute d. inject

4. Itstruethat ......................e. reduces the volume of waste, but the deposit is highly toxic.
a. judiciary b. ethnicity C. proportion d. incineration

5. Certain areas of the Polar regions are frozen................. as they are farthest from the equator.
a. ultimately b. permanently C. nervously d. commercially

B) Fill in the spaces with the most suitable words from the list below:( 5 X 10=50 Marks)

(deploy — principle — carnivorous — precipitate — partnership — disgruntled)

6. Our organization works on the principle all workers have the same rights.

7. The devoted fans were disgruntled after their football team had lost the match.

8. The Kuwaiti community is grateful for the police who deploy law to protect our live.

9. The economical expert believes the falling sales will precipitate the failure of the economy.

10. Crime prevention is effective when it is a partnership between the police and the public.


Amany
English 4 all
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I1- Grammar ( 60 Marks)

A)From a, b, ¢ and d choose the correct answer that best completes each of the | 55—
following sentences: (4 X 10= 40 Marks )

11. She bought a book for herson .................. buying him his favourite game.
a. instead of b. whereas c. on the other hand  d. but
12. The game.................. better if the players had trained well.
a. must be b. can be c. will be d. would have been
13. My parents will arrive .................... Kuwait tomorrow morning.
a. at b.in c.on d. with
14. The Avenues required detailed planning before they ............... with the project.
a. begun b. had begun c. beginning d. had been beginning.

B) Do as shown between brackets:(4x5=20 Marks)

15. Many buildings are built. They want to rent them. (Join with: so that)
Many buildings are built so that they can rent them.

16. Scientists prove various theories through constant tests and experiments.  (Make passive)
Various theories are proven through constant tests and experiments (by scientists).

17. My brother (study) law at the university for five years. (Correct the verb)
My brother has been studying\ has studied law at the university for five years.

18. I can’t give up eating junk food. (Complete)
I wish I could give up/ gave up eating junk food.
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I11-Lanquage Functions ( 40 Marks)
Write what you would say in the following situations: (4X 10 = 40 Marks)

19. A friend of yours is asking you about computer crimes. 20

Express opinion / Express annoyance

20. Your sister says that recycling plastic bags is useless.

Agreeing / Disagreeing / Approving / Disapproving / Give reasons

21. A news reporter asks you about your ideas on nature conservation.

Expressing ideas /Making suggestions

22. Someone says that desertification is a natural process and man has nothing to do with it.

Agreeing / disagreeing / Approving / disapproving / Persuade

1VV- Set Book ( 40 Marks)

Answer ONLY THREE of the following questions: (4x10= 40 Marks) 40

23. Why do you agree to send criminals to jail as a punishment?
To protect the society. /It is a lesson for other criminals not to dare to break the law.

24. Some people are against migration from home country to other countries? Explain.
Because they have to serve their country and not to leave it for foreigners/
people in the country need their skills.

25. What is the importance of spreading and supporting human values among societies?
Values like love and tolerance will make people close to each other in time of hardships
and help each other. / People will live in peace and will have a safe and better life.

26. How can people help governments to overcome the problem of garbage?
People can follow the law and not throw litter in the streets. /
They can protect their environment from diseases. /
They can recycle different items at home.

27. Why is land reclamation considered beneficial?
Because we will use these lands to grow fruits and vegetables for people instead of
importing from outside. /The government will use these lands to build huge projects
which will be an income./ To help the economy of the country and attract tourists.
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V- Writing (120 Marks)

120

Write on the following topic:

Some people enjoy hunting animals as a sport for different reasons, but others believe that many
animals have almost disappeared from the earth due to human acts.
Plan and write an essay of 14 sentences (160 words) discussing the two views and showing

which opinion you agree with and which you don't.

NB: (Your writing should include an introduction, two-body paragraphs and a conclusion)

Outline (20 Marks)

------------------------------------------------------------------------------------------------------------------

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

....................................................................................................................
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..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

...............................................................................................................

Outline Exposition of Paragraphing and | spelling Grammar Handwriting, spacing | Total
" ideas and number of and punctuation
(&)
S coherence sentences
= 20 60 10 10 10 10 120

e Off point topics / outlines receive ZERO.

20 marks to be deducted from the total mark for changing the format.

5 marks to be deducted from the outline if the ideas are not used in the topic.
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VI- Reading comprehension (110 Marks)

Read the following passage carefully, then answer the guestions below: 110

Everyone has a favourite attraction at an amusement park, and | am no different. However,
unlike most people who seem to prefer roller coasters, my favourite ride is a little gentler. Every
time | go to Coney Island or the Santa Monica Pier, | absolutely have to ride the Ferris wheel.

The Ferris wheel is quite complex. Riding it is easy, but how it works is complicated. A
series of carts are attached to a wheel, which is attached to a rim. That rim rotates vertically
around an axis, and gravity keeps the carts upright. As simple as the ride seems, only advanced
engineers can make safe and fun Ferris wheels.

While the Ferris wheel is not as thrilling as a roller coaster, it is still very exciting.
Nevertheless, I don’t seek Ferris wheels out because of their excitement. Rather, I find them very
relaxing. At the top of the Ferris wheel, you get beautiful sights of the park. You also get a sense
of calm that you don’t get in the hustle and bustle of the park below. Additionally, Ferris wheels
are also gorgeous to look at when they are lit up at night. In fact, the original Ferris wheel was
designed as much to be seen as to be ridden.

The first Ferris wheel was made by and named after George Washington Gale Ferris, Jr. He
designed it for the Chicago World’s Fair in 1893. It was the tallest attraction there, standing 264
feet high. However, visitors to the fair were impressed by the size of the ride as well as the
mechanics of it. In 1893, anything that was not turned by hand was considered a sight to see.
And the wheel, which was a machine, was truly incredible to see.

Ferris wheel technology has only improved since then. Most of today’s Ferris wheels are
much larger than that first one. Today, the Ferris wheel is the most common amusement park
ride. But that does not mean you should take them for granted. Instead, be thankful for Ferris’
invention. The next time you’re at an amusement park, don’t just look up at the impressive

wheel in the sky on your way to a newer attraction. Take it for a spin!
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A-From a, b, c and d choose the correct answer: (5 x 10 =50 Marks)

28. What is the main idea of paragraph (3)?
a. Childhood memories of amusement park.
b. The history of Ferris wheel
c. Why the author likes riding Ferris wheel
d. How Ferris wheels improved

29. What does the underlined word *which" in paragraph (4) refer to?
a. ride
b. wheel
C. sight
d. hand

30. What is the OPPOSITE of the underlined word ‘complex" in paragraph (2)?
a. impressive
b. beautiful
C. exciting
d. simple

31. We can understand from the passage that the author wants to:
a. inform us of the author's favourite amusement park rides.
b. show the original design of Ferris wheels and how they work today.
c. describe the history of Ferris wheels and why they are so popular.
d. explain the history of Ferris wheels and why the author likes them.

32. According to the passage, the Ferris wheel was originally designed for:
a. Coney lIsland
b. The world’s Fair
c. Disney World
d. Singapore

B) Answer the following questions (4x15= 60 Marks):

33. How does the Ferris wheel work?
A series of carts are attached to a wheel, which is attached to a rim. That rim rotates
vertically around an axis, and gravity keeps the carts upright.

34. When are Ferris wheels very attractive to look at?
When they are lit up at night.
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35. In addition to being exciting, relaxing and gorgeous, what makes Ferris wheels entertaining?
At the top of the Ferris wheel, you get beautiful sights of the park. You also get a sense of
calm that you don’t get in the hustle and bustle of the park below.

36. What impressed the visitors at the Chicago World’s Fair?
It was the tallest attraction there, standing 264 feet high. Visitors to the fair were
impressed by the size of the ride as well as the mechanics of it.

VII- Summary Making (60 Marks) 60

Read the following passage carefully, then answer the question below:

Google was the first search engine that began considering links. Links are those blue
underlined words that take you to other pages when you click on them. Google's search results
were much better than their rivals. It wasn't just the great search results that led to Google
becoming so well liked. It also had to do with the way that they presented their product. Google's
homepage was, and still, clean. There's nothing but the logo, the search box, and a few links.
These days Google has its hands in everything from self-driving cars to helping humans live
longer. Though they have many other popular products, they will always be best known for their
search engine. The Google search engine has changed our lives and our language. It is a standing
example that one good idea can change the world.

In FOUR sentences, summarise and paraphrase the previous passage in answer to the
following gquestion: (4X15=60 Marks)

Why has Google search engine become so popular?
Google depends on links. It has much better search results. Its homepage is clean.

It has changed our lives and our language.

Content / relevance of ideas Paraphrasing Spelling and grammar Format Total

30 20 5 5 60

Rubrics

e Copying the whole paragraph receives ZERO.
e Exceeding the required number of sentences
e (Minus 5 marks for one sentence- Minus 10 for two sentences and above)
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VI1II- Translation( 30 Marks )

Translate the following into good English:( 2X15= 30 Marks)

S Ak gl B 0 (A = all 3 0 510 s
ol Y] e Lo Llaall lide Cang g and e
Nora: The Arfaj is the national flower of Kuwait.

Maha: Yes, we should protect it from extinction.
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